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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 Which method of costing is used for hotel business?

		  hmoQ>b ì¶dgm¶ Ho$ {bE H$m¡Zgr bmJV {d{Y Cn¶moJ br Om¶oJr?
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	 (ii)	 Which cost unit is used for passenger transport business?
		  ¶mÌr n[adhZ ì¶dgm¶ Ho$ {bE H$m¡Zgr bmJV BH$mB© Cn¶moJ ‘| b|Jo?

	 (iii)	 Write the formula of calculating EOQ.
		  Am{W©H$ AmXoe ‘mÌm kmV H$aZo H$m gyÌ {bI|&

	 (iv)	 Write the formula for calculating total wages cost when 
Halsey plan is used.

		  O~ hmëgo ßbmZ Cn¶moJ ‘| {b¶m OmVm h¡ Vmo Hw$b ‘OXÿar bmJV kmV 
H$aZo H$m gyÌ {bImo&

	 (v)	 What do you mean by semi variable overhead?
		  AY© n[adV©Zerb Cn[aì¶¶ go Amn ³¶m g‘PVo h¢?

	 (vi)	 What do you mean by ‘‘Production Account’’?
		  CËnmXZ  ImVm go Amn ³¶m g‘PVo h¢?

	 (vii)	What do you mean by ‘‘Sub Contract Cost’’?
		  Cn R>oH$m bmJV go Amn ³¶m g‘PVo h¢?

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2)	 Give various basis of classification of overheads in brief.
	 Cn[aì¶¶m| Ho$ dJuH$aU Ho$ {d{^ÝZ AmYmam| H$mo g§jon ‘| Xr{O¶o&
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3)	 Calculate total wages under Rowan plan from the following 
information.

	 {ZåZm§{H$V gyMZmAm| go amodZ ¶moOZm Ho$ AÝVJ©V Hw$b ‘OXÿar bmJV kmV H$amo-
	 (i)	 Standard time / (à‘mn g‘¶) 30 Hours
	 (ii)	 Actual time / (dmñV{dH$ g‘¶) 20 Hours
	 (iii)	 Hourly rate / (à{VKÝQ>m Xa) ` 10

4)	 Explain various basing of apportionment of overheads.
	 Cn[aì¶¶m| Ho$ AZw‘mOZ Ho$ {d{^ÝZ AmYmam§o H$mo g‘PmB¶o&

5)	 Explain the reasons of difference between financial profit and 
cost profit.

	 bmJV bm^ d {dÎmr¶ bm^ ‘| AÝVa Ho$ H$maUm| H$mo g‘PmB¶o&

6)	 Give the names of various control accounts.
	 {d{^ÝZ {Z¶§ÌU ImVm| Ho$ Zm‘ Xr{O¶o& 

7)	 Give the format to calculate operating cost of a passenger 
transport company.

	 EH$ ¶mÌr n[adhZ H$ånZr H$s n[aMmbZ bmJV kmV H$aZo Ho$ {bE àmê$n 
~ZmB¶o&

8)	 Prepare a cost sheet from imaginary figures.
	 H$mën{ZH$ gyMZmAm| H$mo boVo hþE EH$ bmJV nÌ ~ZmB¶o&

9)	 Write four examples of each factory overheads, selling and 
distribution overheads.

	 H$maImZm Cn[aì¶¶, {dH«$¶ d {dVaU Cn[aì¶¶ Ho$ àË¶oH$ Ho$ Mma-Mma 
CXmhaU {bImo&

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.
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IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Given : Sales (1,00,000 units) ` 10,00,000, variable cost 
` 6,00,000; fixed cost ` 3,00,000. Calculate P/V ratio, Break 
even point, Margin of safety and sales to earn a profit of  
` 2,00,000 .

	 {X¶m hþAm h¡… {dH«$¶ (1,00,000 BH$mB©¶m±) `10,00,000, n[adV©Zerb 
bmJV ` 6,00,000, ñWm¶r bmJV `3,00,000 bm^ ‘mÌm AZwnmV, Z 
bm^ ZXm{ZH$m {~ÝXþ, gwajm gr‘m d ` 2,00,000 bm^ A{O©V H$aZo Ho$ 
{bE {dH«$s kmV H$amo&

11)	 Calculate material variances from the following:
	 {ZåZm§{H$V go gm‘J«r {dMaUm| H$mo kmV H$amo-
	 (i)	 Standard price per unit / à‘mn ‘yë¶ à{V BH$mB©) ` 50
	 (ii)	 Actual price per unit / (dmñV{dH$ ‘yë¶ à{V BH$mB©) ` 45
	 (iii)	 Actual consumption / (dmñV{dH$ Cn^moJ) 90,000 BH$mB©¶m±
	 (iv)	 Standard quantity required for actual production
		  (dmñV{dH$ CËnmXZ Ho$ {bE à‘mn gm‘J«r H$s Amdí¶H$Vm) 
		  = 1,00,000 BH$mB©¶m±

12)	 Explain Normal wastage, Abnormal wastage and abnormal 
effectiveness. How should these be dealt within the process 
accounts?

	 gm‘mÝ¶j¶, Agm‘mÝ¶j¶ d Agm‘mÝ¶ ~MV H$mo g‘PmB¶o& à{H«$¶m ImVm| 
‘| BZHo$ gmW H¡$go ì¶dhma {H$¶m OmVm h¡?

13)	 Explain the methods of charging profit on incomplete contracts.

	 AnyU© R>oH$m| na bm^ kmV H$aZo H$s {d{Y g‘PmB¶o&


